
Inflate thirteen 260s leaving 15cm uninflated.

Make a 7cm loop twist by passing the knot through on eight 260s.
Connect them with 6cm bubbles. This is the first line.

Turn the line left to right. Weave the second line.

On the red 260, twist a 6cm bubble and a 7cm loop twist.
Aroung this loop twist, wrap the knot of pink 260.
Then make the third line.

To make a pentagon on next step, trim the excess leaving 7cm bubbles.

Make a pentagon structure on the back of the head.
Use this three 260s.

Finally patch up by last 260.
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In this site and the book( Fusen Chakuchaku ), twelve 260s are used to make afro-wig.
But thirteen 260s' afro-wig is far easy so that you never be at a loss.


